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1 Discussion
Payload size of DCI Format 0 and 1A shall be aligned for a search space on a cell.
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In carrier aggregation, SCell can be configured without uplink. And there is a DL only FDD carrier with no paired uplink carrier to be used as SCell in carrier aggregation. In such case, UE is not informed with system information of uplink, more specifically UL BW. In addition, UE is not required to receive system information of SCell.
Therefore, it seems payload size of DCI format 0 is ambiguous for SCell without UL CC.

However, payload size of DCI format 0 is still necessary when deriving payload size of DCI Format 1A on the SCell with no UL CC according to current specification.
Possible alternatives:

Alt.1
Clarify that no padding is necessary

Alt.2
Assume UL BW to calculate payload size of format 0, e.g. same BW as DL

2 Conclusion
Proposal:

Clarify the payload size of DCI format 1A on SCell when its UL is not configured or not exists.
If the UE is not configured to decode PDCCH with CRC scrambled by the C-RNTI, and the number of information bits in format 1A is less than that of format 0, zeros shall be appended to format 1A until the payload size equals that of format 0.


If the UE is configured to decode PDCCH with CRC scrambled by the C-RNTI and the number of information bits in format 1A mapped onto a given search space is less than that of format 0 for scheduling the same serving cell and mapped onto the same search space, zeros shall be appended to format 1A until the payload size equals that of format 0. 









